Derivative - Class XlI

Related Questions with Solutions

Questions

Quetion: 01

.%‘10

Let g is the inverse function of f and f’(g;) S
(1+22)

.If g(2) =a then ¢'(2) is equal

to

Solutions

Solution: 01

flo@l=2 = Flo@)] - [g@]=1 = f(a)-¢(2)=1puttingz = 2]
given, f'(a) = o5 8/(2) = L5

Alternative:

g [f[x]] = x
T

(3£

g
g'[fIx]]-f'[x]=1

now gl[2]l=a So, fl[a]l =2
g and f are inverse of each other
now f[x]=2 So,g[2]=x=a
Now, g'[2].f'[a]l=1
2
9'(2) = ___1ta
f’(a) ql10
Correct Options
Answer:01

Correct Options: B



